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23

1
V1-—x2

4 (arcsin( f(x) ) = L&

% (arcsin (x) ) =

dx V1-£2(x)
i(arcsin(?x) ) = ’

dx  V1-49x2

d . 10
&(arc sin (10x) ) = N EETITS
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23

1
V1-—x2

% (arc cos(x) ) = -

da _ f'(x)
dX(arc cos( f(x) ) = NSRS
4 (arc cos (5x) ) = -2
dx J1-25x%z
4 (arc cos (10x)) = - 10
dx Vv1-100x2
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d 1
S — (arctan (x) ) =
é dx( ()) 1 + x2
=
<o
oD ..
=% N £ ()
=8 &(arctan(f(x))= TF 200
9 3
=
o o d 5
o > &(arctan (X)) = 15550
=
<

d 1
&(arctan (10x) ) = T 1%0)(2
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d 1
= — (arccot (x) ) =-
é dx( ( )) 1 + x2
Z
<o
D R )) .o
| <
== f'x)
= £ — = -
s § — (arccot( f(x) ) T 200
S 3
S 2
el | L(arccot (6x) )= -0
= dx T+ 36x2
=
< d 11
&(arccot(ﬂx) )= T
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